Lesson 2-1
Spiral Review

Name | |

U4.5+|+3+7=

5.

Ll

{

Molly has 9 turtles. Liam has 4 turtles. Kendall has
3 turtles. How many turtles do they have in all?

= \}Q A. 12 turtles B. I3 turtles

i

6.

C. I5 turtles D. 16 turtles

Kai has U fish. His sister has 3 fish. They buy
8 more fish. How many fish do they have now?

A. 7 fish B)) 12 fish
C. 13 fish D. 15 fish

. Zara has 6 markers. Troy‘hos 6 markers. Gene

has 8 markers. Which equation shows how
many markers they have in all? Choose all the
corre WEers.

A.6+6+6=7 B.?=6+6+8
C.?2=6+8+8 - D.6+6+8=7
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Name

I. How can you use the addition equation to help

\/ you subtract? Write the difference.

8+ 7=155I5—8=_/

2. Which addition equation can help you find

;{% 44— /77 A
: A 7+7=I4 B 7+6=13
: C. IlU+0=1Iu . 10=6+U

3. Which addition equation can help you find

T\ 10-8?
, A.2+2=U B. 2+8=10

C. 8=6+2 B 10=5+5

4. Which addition equation can help you find
13 — 5?7 Choose all the correct answers.

A 5+5=10 _ 88+5—B
§y8=5+8 D.13=12+1

5. Which addition equation can help you find Il —57?
Choose all the correct answers.

B 54+ 6=l
D.1I0=6+1U
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Use the numyb_her line to add or subtract.
Le+2=_0

3. What is the sum?

3+3= O

[-,.,M‘-Jﬂ B. - :M
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Name

\mef is the unknown?
l. 6 + O, = |4

{ /

2 L. T e O It .y ¢ 31 _
e 1 T/ = O \ ii A

., — § it rilede

I e ——

5. Is each equation True or False?

‘ ﬁ(izi}\ iy L‘, 7 ‘ { 11 [ i ¢ T
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True False

3+9=6

8 —3=5

2+5=9+8

H—u=16—8

20 =19

19 —8 =17 —10

What is the unknown?

;ljf’?x
%V&J8—9=jL

2%\7J3=m+;i
: \/8.;%‘;_*'8:%

V@Jz—szézu
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Name

— . W\/@@

I. Which number comes affer 42 if you are counting

by 25?
A. 10 B. Ul
(C. U3 D. ut

2. Does the list show counting by Is? Choose
Yes or No.

| Yes No
C Uu, 45, 46, U7 v/
50, 60, 70, 80
. X | 89, 90. 91, 92

(A 53::58, 63, 68 : \
Lk 75.76,77, 78 S.L

3. How can you show 62 in different ways? Choose
all the correct answers.

A. six-two B. sixty-fwo

- _C) 60 +2 D. 602

1. If you are counting by 5s, what are the next
5 numbers after 157
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Name

\vi\ew
I. What is another way to show 257

[/”A.; 2 tens + 5 ones B. | ten + 5 ones
C. 15 ones D. | ten + 12 ones

2. Mitchell has 37 pencils. What is another way to

show 377
’/ A. 2 tens + 27 ones B. 3 tens 4+ |7 ones
@ | ten 4+ 27 ones D. | ten + 17 ones
3. Jan has 42 crayons. What is another way fo
show 427?
/y A. 2 tens + |12 ones B. 3 tens + 12 ones
(’ C. U tens + 12 ones C@ | fen + 22 ones

4. Do the tens and ones show 59 in a different way7
Choose Yes or No.

Yes No

£

0 tens + 59 ones \/

| ten + 19 ones - \/

/2 tens + 39 ones

/3 tens + 39 ones

e &2 K K

J

/5
U tens + 19 ones B
5 tens + 9 ones \,/

(
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Question 4

Choose the correct answer.
Miguel is subtracting 43 — 19 \ % %
How can he decompose 19 to help him find the difference?

N5

At ey X
O A)land9 O both
® B)10and9 |
79,
O ¢ 10and 19 hw
. O D)50 and 3 '" N




Question 6

Choose the correct answer.
Loock at the number line.

|
i

|
01 23456 78 910

® A3 -7 =7
O BI3+7 =27
O Qi3 +8 =7
O



This question has two parts. First, answer Part A. Then, answer Part
Part A ’

Choose the correct answer.
Look at the base-ten shorthand representations.
Which represents the difference 57 — 357

.

»

o %



Enter the answer.

What is the difference?




S Part B

Look at Part A.
Enter the answer.
What is the difference?

vV

6l — 28 =| = =

Py g e b g vy E
GQuestion 2

Enter the answer.

L s

[ Co o1 i 1 | |
! B p e s B S S R R T 1 z )
il . 0123456 7 8 9101 1213141516 17 18 19 20

\/ What is the difference?

15 -7 =
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I. A box has I5 blocks. 7 blocks are red and the rest
X are blue. How many blocks are blue?

A. 6 blue blocks - B) 7 blue blocks
C. 8 blue blocks D. 9 blue blocks

Py o~

. es die oin d
\/ flower. How man

3. There are 14 birds on the feeder. Some birds fly
away. Now there are 5 birds on the feeder. How
~ many birds fly away?

(/ A. 6 birds B. 7 birds
C. 8 birds 9 birds

<
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4. Hannah has I5 plates on the table. She puts 5 of

he plates in the cabinet. How many plates are still
on the table?

i@ plates

5. Ami has 8 marbles. Tray has |2 marbles. Which
equation shows how many fewer marbles Ami has
than Tray? Choose all the correct answers.

g e
A. /12 +8=7 B. 8+7=12
C.12—-8=7? D.8+12=7
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